Volume Selubons

2CH1 Paper 2
() Nolave cofinder = el (6) % Aretlh: 57
=™ x V5% 2 \S
= 106-03em? L XM a1 8T 25T
2'36 Xh:s;v
h=2-4m
Toked wgw 2 2.4415= T4
200 ©)\
83. Vo & acc>
;'; X% ><33
24 3,1 x T
%h " 3.4 x
X 9 9
S x 27 3_@'/0*“
jew G RT3
314 x 34
= 3./ 2.0y
X 3 X .6
Q- 42xi0:=94.2 1884
94 .20
418 .5y
HE o i’
e
2010 P2

Q. V=%rh
32—60: '}f}(étqzﬁh. \
22460 = )28 68 X h

22b0 % (28 68 = h “
h=2%5:3em |




J’> (a) Volume. pnsm = area cs05s techen x 5"“‘34"4‘

oveon cross sechlerny =

L
Re

X8 frd
k + cirtle

(24 x38) + wxi2?

720 - 482.39

= /172 39em 2

Volume= 1172.39 x 50 - 58 619.6em> —> 536 00 em”

)
b) 2 size= 58600 +2 =

29 3co0em 3

Volume cubad = LxBaxH

H) Ve wreth
Vz 3 1ux5°x 4
V= 3.1y x25 x &
V= 3.4 x 100
V:31pem?

F:‘) (a) V:z ‘;‘3%"'”3
%x%x0°53
= 0 52em>

< =

(b) ')7(‘2!\, 30052
Yx0 12 h0.52

1 54 xhh = 0.52
h =0 3Yum

> 3% x28 ¥ H 29300
980 xH = 293600

H:ZQ-?W

I) Viagecoe =V omat cona

L /
/5:(%;:52‘»{2‘»‘)»(3,(77,(5&”3)
= 5654-87 - 209 44

= 5400 em

G) Ve Fwth + (Fa i2)

Vet
WK 6% 1) + [LatreS? ”%2)

V= 287.98 + 2618
V:549.78em3 - 5850 e

i )




200/ - 2068 2
Area mwﬁie, s 30 xl4g = 138O em

E—) %n 6&) - ’ t . 4
330 ;) Arec tircle = Wrtawx 182706 6 et

Ybem

Toted cree = 2086 .86 em >

i
Velume = 208686 x 2B = 521‘7%5%3@“52@@@%3

(b) V= 230 coco

Area cress sechon x bkeinhl = 3000
Aree x = Je0ad
Areq = 30000 -5 20
A‘% = ISOQQM&

"ﬁ?g,'pgég 3 "}rfz"-':lf = /1500
Yré: oz 1500 R &
Yré& = 000
F2 oz oo £y
r&. /909 .86

r: 437em
|}
C\) V= 2 te2ly
Ve ‘%x:s.w»xm“"x../z?
D) Ve E aweth V= et
Vedutt xB2*%20 Vi x5.8%, 5.8
Ve Sbb ¢ Bl V:55\.\Q€.m%

The eene %Mcp@@i bue (8 bebler ualua @or merend .



) .

Vz Y x20%2 850 % 42 7875
Ve 62831:88 Tamx3 = TETS
Va b%000cm" A Lb2X T8 .75

he & Bbemn

&) V= %mr&h = \\ftle cene
V= Jﬁx“‘ﬁ XB*y 5&>m ("’% % Ay %Ea’xm> |

Va 2\l bb = 523,40

2 1b2) Obem?® -5 2000




